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BT £ AO 1B Bt 18R i BE | HEE | EE
e 340 2 163 2 177 0 157 2
FLHT 190 1 89 0 101 1 84 0
ESHT 108 —1 40 -1 68 0 51 -1
KEH 31 0 14 0 17 0 12 0
NER) 18 0 5 0 13 0 6 0
AR 153 1 68 1 85 0 62 1
=1 40 1 8 1 32 0 2 1
78 L ET 380 1 212 1 168 0 241 2
EHT 6 0 5 0 1 0 7 0
& HT 190 -2 75 -3 115 1 62 -1
EEHT 168 3 77 1 91 2 91 1
AT 182 -3 94 -3 88 0 111 -2
AHT 197 0 93 0 104 0 93 0
2 EHT 375 6 218 5 157 1 223 5
FET 56 0 24 0 32 0 37 0
18 faET 85 -1 34 -1 51 0 42 0
FSHT 105 -2 56 0 49 -2 55 -2
—&T 0 0 0 0 0 0 0 0
NET 120 0 59 0 61 0 54 0
t&ET 142 0 66 0 76 0 59 0
INET 76 0 38 0 38 0 31 0
NET 180 2 75 0 105 2 89 3
+&T 214 -2 90 -1 124 -1 107 -3
35k Fe T 364 3 166 1 198 2 173 1
5iEET 3,081 -9 1,482 -6 1,599 -3 1,364 -5
EFAET 3,974 20 1,949 13 2,025 7 1,742 14
Ed=1:] 1,672 1 818 1 854 0 678 1
ohEHT 1,611 -2 877 3 734 -5 904 3
FrH AT 645 -1 293 -2 352 1 246 1
H #THT 3,599 -24 1,738 -22 1,861 -2 1,680 -12
Lid6 BT 2,942 -8 1,429 -4 1,513 -4 1,259 -2
¥R BT 2,899 4 1,421 5 1,478 -1 1,103 0
JIIFEET AL 4,493 -7 2,196 -3 2,297 -4 1,991 8
JIIFE BT F 2,162 -2 1,045 —4 1,117 2 873 9
ARKHET 9,030 12 4,393 4 4637 8 3,894 7
=&HT 3,864 -7 1,846 —4 2,018 -3 1,688 0
[ FH AT 1,440 1 749 -2 691 3 636 -1
EREFETER — 2,590 -8 1,228 -1 1,362 -7 993 —4
EREFET R 5 2,043 2 1,005 3 1,038 -1 855 -1
EREFRT PR 5 648 -4 320 -2 328 -2 266 -2
& K BT 5,486 5 2,594 3 2,892 2 2,161 5
ARG F0ET 269 -14 261 -14 8 0 263 -14
EE 3] 4 0 9 0 X 0 2 0
EXRE—TH 353 —1 193 1 160 -2 186 1




EXLRETZTH 226 -6 92 -3 134 -3 119 -1
EXLRET=TH 1 0 0 0 1 0 1 0
ELRETMETH 0 0 0 0 0 0 0 0
EXLRETETH 217 2 106 0 111 2 93 1
LtEE 0 0 0 0 0 0 0 0
TEET—TH 293 -1 136 0 157 -1 144 -2
TER=TH 564 3 261 0 303 3 290 3
TEBR=TH 221 -1 100 -1 121 0 97 0
BEBRI—TH 409 -10 190 -5 219 -5 215 -3
WERI=TH 513 -2 229 -2 284 0 254 -2
HEET=TH 234 1 112 1 122 0 142 3
fE{EFET—TH 322 -3 158 —1 164 -2 143 -1
BT = TH 400 0 202 1 198 -1 213 0
EFELET—TH 122 0 54 0 68 0 61 0
LFELET=TH 353 2 175 3 178 -1 180 0
AR —TH 258 4 123 0 135 4 163 4
AR ZTH 415 -2 200 0 215 -2 220 -1
=B—TH 120 —1 58 -2 62 1 58 0
ERT_TH 240 0 112 -1 128 1 136 3
[ H Hih 139 -3 73 -1 66 -2 111 -1
BT —TH 234 11 108 5 126 6 116 4
BRI —TH 430 3 213 2 217 1 193 0
hRFEI—TH 543 -2 247 -1 296 -1 247 -1
hEFEI=TH 459 -2 218 -1 241 -1 194 -1
FFEI=TH 692 10 320 4 372 6 308 2
hRFETE T B 395 -3 192 -3 203 0 202 —4
FFETRTH 587 -1 272 1 315 -2 225 0
FEEI—TH 207 2 120 2 87 0 112 2
¥ERT—TH 288 -3 160 -2 128 -1 168 -3
AEERT—TH 390 0 193 2 197 -2 211 1
BiEEI=TH 271 2 132 0 139 2 126 0
IERIT—TH 134 6 76 3 58 3 73 3
IERAI=TH 471 -3 227 0 244 -3 227 -2
EREI=TH 511 -8 280 -4 231 -4 281 -3
IERITMTH 185 0 89 -1 96 1 94 0
ERTATH 545 -1 256 0 289 -1 306 1
KimBI—TH 326 —1 160 1 166 -2 140 0
KimbBI—TH 185 8 94 6 91 2 97 5
KFEH—TH 106 0 43 0 63 0 68 0
XFHZ=TH 3 0 0 0 3 0 4 0
KXFH=TH 126 -2 71 0 55 -2 54 -1
TZEETE—TH 675 3 332 0 343 3 277 5
THREEZTH 344 -1 156 0 188 -1 135 0
TEFETE=TH 664 8 318 2 346 6 259 9
TEFETAEETH 577 3 262 0 315 3 254 -1
TEEEATH 689 2 324 1 365 1 335 2
T EFETFEANTH 549 -1 276 0 273 -1 270 0
TEFETEETH 653 9 336 2 317 7 360 3
T EFETFE/NTH 619 —4 282 -3 337 -1 285 0
TZETE—TH 1,307 5 606 1 701 4 625 6
TEMEZTH 362 -1 188 0 174 -1 168 -1
TZHRETERE=TH 644 2 307 1 337 1 274 0
TZETRMTH 925 -12 412 -5 513 -7 437 -2
TZREEATH 921 1 499 -2 422 3 523 1
T ZRETRNTH 540 -8 276 2 264 -10 270 -6
TZRETEETH 1,522 2 721 1 801 1 751 —4
TZETE/\TH 1,075 4 502 3 573 1 603 3
TZRETEATH 330 2 182 1 148 1 179 4
T EETdE—TH 97 1 57 1 40 0 84 1




T2ETAL—TH 96 0 64 0 32 0 81 0
I\ &t 81,249 -19| 39,567 -20] 41,682 1| 36,889 M
AERZE 71 0 29 0 42 0 52 0
AEHTH 52 -1 28 0 24 -1 26 -1
AERTR4E 3 0 0 0 3 0 4 0
AERT /MR 77 0 36 0 41 0 31 0
AERT KA 0 0 0 0 0 0 0 0
AEHET{EH 25 0 13 0 12 0 10 0
AEBTRE 1 0 2 0 X 0 1 0
AERTA /R 7 0 3 0 4 0 6 0
48 4 -1 2 0 2 -1 3 -1
AEMXEST 240 -2 113 0 127 -2 133 -2
LERTIA 23 0 13 0 10 0 14 0
LERTINE 35 0 15 0 20 0 24 0
LERTE Dk 21 0 9 0 12 0 14 0
=T 7 0 3 0 4 0 8 0
LERFXR 38 7 15 4 23 3 22 1
LEBTHH 9 0 6 0 3 0 10 0
LER XA 12 0 6 0 6 0 6 0
LER/NMNEE 27 1 14 0 13 1 12 1
FER/T 13 0 9 0 4 0 11 0
LB XER 185 8 90 4 95 4 121 2
BUEER &5 425 6 203 4 222 2 254 0
$EFRETR A £ 1,142 -3 544 -1 598 -2 480 1
EHETFEAT 646 -3 289 0 357 -3 226 -2
EHBTM AR 1,084 8 533 4 551 4 413 1
EIBTE AR 1,038 —4 500 -3 538 -1 403 -1
BMETERER 1,294 0 627 1 667 -1 392 0
BT ERET 1,083 2 509 -1 574 3 453 3
BIETE A 3,634 -14 1,740 -8 1,894 -6 1,490 -3
B X EE 9,921 -14 4,742 -8 5,179 -6 3,857 -1
A 1,717 2 804 1 913 1 643 0
tRILBT T EZEF 2,450 1 1,178 2 1,272 -1 1,000 1
AR LLIBT S /M 1,796 -5 890 -3 906 -2 756 0
R ILRT AR T 1575] -16 781 -13 794 -3 621 -10
B LIRT E B 1,295 1 616 3 679 -2 515 1
R LLATIIR 2,280 -6 1,103 —4 1177 -2 896 0
R ILRTER R IT 4,697 -8 2,300 -5 2,397 -3 2,048 2
ERILH X 5T 15810 -3t 7672 -19| 8138 -12| 6,479 -6
= it 107,405 -58| 52,184 -43| 55,221 -15| 47,479 34




